A & ol & AF & Ml A

20138 =& 2 3 HIISHM2AAMEMNSSES A

SN HAD
X o500 2X3
2t 520 Al - SHIE X3S
8 521 Al SHIBXEZS CERE
SN-F-B-g-2 0l &t o pIE-E" HDE2
= 6,595,800 6,415,800 180,000
P 6,595,800 6,415,800 180,000
500 Ex3 2,548,000 2,368,000 180,000
520 Al - CHIEESS 588,000 408,000 180,000
521 Al - CHIRESS 588,000 408,000 180,000
521-01 Al - SHIREZS 588,000 408,000 180,000

OMEmHII =S dXel & UHXIS At 588,000 408,000 180,000




N = 0l & At & Ml A
20138 &= =& 2 3|l HIISHMeANLEALELA A

SN AT

X HIISXMelAEALSESH 24
Eel: HIISHM2ANEMESELS A 2 (HIISHMAANEASSLEEA) (Sl & &)
SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Husz
A 6,595,800 6,415,800 180,000
= 1,960,000 1,960,000 0
= 588,000 408,000 180,000
Al 4,047,800 4,047,800 0
HIISXM2IAEMNBEEIH 29 6,595,800 6,415,800 180,000
= 1,960,000 1,960,000 0
S 588,000 408,000 180,000
Al 4,047,800 4,047,800 0
HIISHMIANEAMEELS A 2F (HIISHM 2l Al LAY 6,595,800 6,415,800 180,000
Eg3)
= 1,960,000 1,960,000 0
= 588,000 408,000 180,000
Al 4,047,800 4,047,800 0
dXelAlE £X 6,595,800 6,415,800 180,000
= 1,960,000 1,960,000 0
= 588,000 408,000 180,000
Al 4,047,800 4,047,800 0
403 A X EHHS =0l A 4,151,800 3,971,800 180,000
= 1,960,000 1,960,000 0
= 588,000 408,000 180,000
Al 1,603,800 1,603,800 0
02 BI1 2SOl CHEHCH & A& I 4,151,800 3,971,800 180,000
OMdEHII=E dXcl & XA 4,151,800 3,971,800 180,000
= 1,960,000 1,960,000 0
= 588,000 408,000 180,000
Al 1,603,800 1,603,800 0




